Frequency of Astoria’s Wind DIRECTION!, based on Weather Conditions
Using this chart: Each direction totals ~100%. Within that direction are the frequencies (%) of weather (- indicates less than 1%).
Example: In January, when wind is from the south (S), it rains 28% of the time, but has no weather occurring 62% of time.

N NNE NE ENE E ESE SE SSE S SSW [ SW (WSW| W |WNW/| NW | NNW
Calm | VRB | 3492 |112to|342to | 562to | 792to | 1012- | 1242 - | 1462 - | 1692 - | 1912 - [ 2142 - [ 2362 - | 2592 - | 2812 | 3042- | 3262 -
to 112 34¢ 562 792 101¢@ 1242 14692 1692 191¢e 2149 23692 259¢ 2812 | -304¢2 | 326° 349¢
J rw | 4| 6| 3| s | a|3|3|a|5s5|3|a]|]7 ]88 |8 |12]10]10
A bz 5| 33|66 2322222143 ]a]|]s]|21]1]3:
N rzra| 0| o] o| o | o o504 {04a]0aflo01|01] 0] 0] o0 o0o]]o0o]o
U sN 2|03l 1o 2a|3 22211121 ]3]2]2
A TS 0 03] o | o] oo fo1|]o|o1]|]o0o|o1][o01|o01|02]02]02]05
R fG 26 | 22| 13|20 |12 1012 | 9 |10 8 1417|1817 12|10 6 | 14
vy mreg| 4| -] o] 1] o0 - 1 1] 2] 1 - - - - - - o |1
None | 48 | 44 | 78 | 70 | 77 | 75 | 72 | 73 | 73 | 73 | 62 | 58 | 61 | 61 | 67 | 68 | 72 | 54
P Ra 24142017 | 4|6 [15]13|14[15 16|27 ]29 | 19|17 ]10 |12 11]30
F Rw | 6 [10] 4|2 |3 4 | s |6 | s g | 7 | 7 |11 8] 7
g 2 s | 2133|2122 2112|1235 ]|2]2]3]1]2
p fzal ol oJofo o jo3]orjojoajojo3jojofojo]ojol]o
sN Joalos| o | o 2| 2| 21| 1]1]2 = 1 = 1| 1| 1] 1] 1
V' & 0 03] o | o] oo fo1|o]o1] oo o1|]o]or1|of|o]fo]o2
A e 23| 2|9 |9 |5 | 7|97 |8 |8 |12|15]18]12 |10 9] 7|11
R wire| 5 | 0| 2 = 1 = 1| 2] 2] 1 = 1 = 1| 1| 1] 1 -
Y None| 55 | 45 | 81 | 85 | 86 | 78 | 76 | 74 | 72 | 73 | 62 | 57 | 64 | 69 | 72 | 69 | 75 | 58
RA | 21 | 35| 3 | s | 7 10|14 |17 |17 |17 |28 | 24|16 | 11| 10| 14| 11125
v Fw | 6 132 ]3[4 ]3 /|3 6 | 8 |10 12|12 |10]10]10] 8| 8
P 2| 21| 1|1 2]2]1]1 2 | 3| 3| 221211 -
R SN Joslos| o - - 1| 2 - - - - - 1 |1 1]1]1]o0
c T o| o]o|o|]o]|]o|ofo1]o0o]|] oo o2]o01]o0o]o1|lo]o0o]o
FG 14 | 14| 5 | 6 | 6 | 8 | 7 | 8 |6 | 6 |12[13|13| 8| 8| 8| 5|29
H o wre| 2 | 0| o] o] - 1|1 1] 2] 2 - - - 1 - - - | o
None | 65 | 50 | 91 | 87 | 85 | 83 | 74 | 71 | 72 | 70 | 57 | 58 | 6a | 73 | 72 | 71 | 76 | 65
RA | 19 | 36| 5 | 4 | 6 | 8 |11 | 16 |11 |17 |26 |27 |13 | 12| 8 | 8 | 6 | 14
A rw | 5 |120]2]3]3|2|5]|a|6]|7]|6]s3s 8 | 8 10| 6 | 6
P bz 3 | 1 1|1 -l 22111 -l 2321 2]1]1]1
R 75 0 o |l o] o] o|]o|o|o2] 0] o0 o02|o01|]o0] o01]o0]|o0]o05
I G 13|13 3|7 | 7|5 |9 |5 |7 |5 |12]17]10|9]| 7| 4] a]e6e
L mrc| 2 | o] - [ o] o - 2] a5 |1 = = = = = = = =
None| 67 | 53 | 90 | 87 | 86 | 85 | 77 | 73 | 73 | 73 | 64 | 59 | 72 | 75 | 78 | 79 | 85 | 77
RA | 12 |24 2 | 5 | 5 | 8| 9 |11]|10]12]14] 14 6 | 4 | 4| a9
Rw | 5 | 7| 2| 2| 2] 2] 3 5 | 5 | 11| 10 6 | 5| 8| a4]|s
M bz 2 11| 1]0] 3 2 | 2] 2] 3 2 23| 1] 2
A TS o| o]o|o|]o|o| o o2]0] 02|01 01]03|]0] 01|lo01]o0]o0
Y fG 10| 14| 3 | 1| a|a|4a|4a|5|6]|6]|8|7|5]|3]|3]|3]|s-s
mrc| 2 | 0] o | o | o] o -l 23] 1 - - 1 - - -l o
None| 75 | 65 | 94 | 93 | 89 | 89 | 82 |80 | 78 | 79 | 72 | 71 | 79 | 83 | 87 | 85 | 90 | 83
RA | 13 | 18| 2 | 1 | 8 | 3 |15 |13 | 7 |12 |18 | 17| 9 | 9| 4| 4|3 |6
, Rw |3 /5] 231 )of2|5 )6 6|9 [12]9]6]5]4]3]|3
u bz 5 | 4] 3]0 |11 2313|357 ]|a]|a|3]2]a
N I 0| o] o | o|o6| 0| o0o|o]| o] o o02|02{02]0]|o0]|o0o]o0o]o
FG 12| 9| 3| 4| 4|3 |9 |8 | 4|6 |13[12]22|]8]|5]|5]3]6s
E wre| 2 |04] 00| 0] 0|3 |a|a]|3]o]o]- = = = - | o
None | 73 | 70 | 92 | 93 | 88 | 95 | 74 | 74 | 80 | 74 | 67 | 63 | 71 | 78 | 85 | 87 | 90 | 87
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Astoria Wind & Weather

Example: In December, best threat of freezing rain occurs with a south (S) wind (freezing rain/drizzle occurs 0.5%
of time when wind is southerly. In fact, the threat of freezing rain is only when winds are east to south to southwest.

N [NNE| NE [ENE| E | ESE| SE | SSE| S [Ssw | sw [wsw| w [wNw| NW | NNW
Calm | VRB | 3492 | 112t0 | 342to | 562to0 | 792 to | 1012 - | 1242 - | 1462 - | 1692 - | 1912 - | 2142 - | 2362 - | 2592 - | 2812 | 3042 - | 3262 -
to 112 34¢ 562 792 1019 | 1249 | 1462 | 1692 | 1919 | 2142 | 2362 | 2592 | 2812 | -3042 | 3262 | 349°
2 9 5 5 1 1
RW 3 6 1 2 0 2 3 1 8 4 4 3 1 1
ljj DZ 6 8 4 0 0 0 0 0 3 5 | 10 | 9 5 6 5 3
L TS 01| 05| o 0 0 0 0 0 |03 |o6]| 0 |[01|] 0o |o1]o1]| o 0 | 02
y FG 14 | 16 | 2 1 3 6 8 4 4 |10 | 17 | 13 | 8 8 4 2 3
MIFG | 1 0 0 0 0 2 2 3 5 1 0 0 1 0 0 0
None| 77 | 70 | 94 | 95 | 97 | 90 | 84 | 89 | 84 | 83 | 72 | 65 | 77 | 84 | 85 | 90 | 95 | 91
RA 5 7 0 0 0 5 | 11| 9 4 4 3 3 2 1 3
A Rw 3 4 1 0 2 0 3 4 4 4 3 2 1 1
g DZ 5 8 0 0 0 1 1 2 1 8 6 5 4 3 4
y I8 01| o Jo3| o 0 0 0 0 0 |02|02] 0o |o1| o |o1]| o |o01]| o0
s f6 21 | 16 | 1 2 4 5 7 | 11| 9 6 | 16 | 16 | 17 | 13 | 12 | 10 | 4 6
T M| 2 0 0 0 0 0 1 5 6 1 0 0 1 0 0 0 0
None| 70 | 73 | 97 | 98 | 94 | 91 | 79 | 7a | 78 | 82 | 72 | 70 | 75 | 81 | 83 | 8 | 92 | 90
s RA 7 | 13| 1 0 1 4 5 7 4 6 | 14 | 13 | 6 3 2 3 2 5
E RW 2 4 1 1 1 2 3 4 3 2 2 2
P pz 3 3 1 0 0 0 1 1 3 3 2 2 2 3
: TS 03| 0405 | o 0 |03 |02 0 |02|02]02]02|01]01] 0 0 |01 |01
g FG 18 | 18 | 3 3 3 4 9 7 |10 | 13 | 12 | 16 | 13 | 12 | 9 8
E MIFG| 4 1 0 0 0 0 1 3 4 1 1 1 1 1 0 0
R None| 70 | 70 | 94 | 95 | 95 | 92 | 88 | 82 | 79 | 79 | 70 | 73 | 75 | 80 | 84 | 86 | 87 | 82
o A 13 | 30 | 1 1 3 5 7 | 12| 9 | 10| 17 | 22| 13| 5 5 6 7 | 16
¢ Rw 4 2 1 1 2 2 3 5 8 6 5
T Dz 5 6 1 0 0 1 1 2 2 2 2 1 1
0 Ts 0 0 0 0 0 0 0 0 |04 ]|02|02|01]|02]|03|04|02]o0
A 18| 2| s 6 3 5 9 | 10| 9 | 13 | 14 | 20 | 18 | 15 | 13 | 16 | 11 | 14
: MIEG | 5 0 1 0 1 1 1 2 4 1 1 2 3 1 1 0 0
None| 64 | 53 | 90 | 91 | 94 | 89 | 84 | 77 | 74 | 71 | 65 | 58 | 67 | 73 | 76 | 72 | 80 | 70
RA 23 | 22| 9 9 7 |10 | 12 | 17 | 13 | 17 | 23 | 28 | 21 | 15 | 16 | 16 | 20 | 33
N RW 5 5 3 5 1 2 3 3 4 6 7 7 7 7 6 | 11 | 9 9
O »pz 3 0 1 0 2 1 2 1 1 2 2 2 3 1 1 2 0
Vi fmal o 0 0 0 0 0 |o01|o01]o01] 0 0 0 0 0 0 0 0 0
“En SN 0 0 0 0 - 1 - 1 1 - - - - - - 1 -
g TS 03| 02]o6| 0 0 0 |0o1|o01] 0 0 |o1]|o5]|01| 0 |03]|01] 0 |04
E FG 24 | 18| 7 | 11| 10| 9 9 8 9 | 13 | 17 | 18 | 14 | 12 8 | 12
R mMiG| 5 0 0 1 1 1 1 2 2 1 1 1 1 1 0 0 0
None| 54 | 51 | 83 | 82 | 84 [ 81 | 78 | 73 | 75 | 70 | 63 | 57 | 62 | 67 | 69 | 66 | 66 | 56
RA 25 | 244 | 12 | 14 | 13 | 11 | 13 | 15 | 15 | 18 | 23 | 29 | 24 | 16 | 14 | 15 | 20 | 29
D Rrw 4 | 10| 4 6 5 2 5 5 6 8 | 11 | 12| 11| 11
E 'z 4 2 9 4 3 3 2 2 1 3
(E: FzRA | o 0 0 0 0 0 | 02|04 |02]03]|05]|02]01]01]o02
m SN 02 | 1 1 0 1 1 1 1 1 1 1 1 1 1
g IS 01| 06| 0 0 0 0 0 0 01| o 01| 0o |o02]|02|05]|03]| 0 |03
g FG 26 | 22 | 20 | 19 | 16 | 11 | 12 | 12 | 10 | 12 | 14 | 20 | 18 | 12 | 10 | 10 | 10 | 16
R MrG| 6 0 1 0 1 1 2 2 3 2 1 1 0 1 1 0 0 0
None| 54 | 43 | 69 | 71 | 73 | 79 | 76 | 74 | 70 | 69 | 63 | 58 | 60 | 68 | 67 | 66 | 64 | 54

'VRB is variable (less than 3 mph). A - is near zero. Based on 1948-1995 observational data.
Numbers total may not equal 100%, as not all weather was included (such as blowing snow, hail, dust, smoke and haze).
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